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QUESTION 1

The following SAS program is submitted: 

proc datasets lib = sasuser; contents data = class varnum; quit; 

Which one of the following is the purpose of the VARNUM option? 

A. to print a list of variable names 

B. to print the total number of variables 

C. to print a list of the variables in alphabetic order 

D. to print a list of the variables in the order they were created 

Correct Answer: D 

 

QUESTION 2

The following SAS program is submitted: 

data work.sets; 

do until (prod gt 6); 

prod + 1; 

end; 

run; 

Which one of the following is the value of the variable PROD in the output data set? 

A. 5 

B. 6 

C. 7 

D. 6 

Correct Answer: C 

 

 

QUESTION 3

The following SAS program is submitted: 

data work.retail; cost = `20000\\'; total = .10*cost; run; 
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Which one of the following is the value of the variable TOTAL in the output data set? 

A. 2000 

B. `2000\\' 

C. (missing numeric value) 

D. ` `(missing character value) 

Correct Answer: A 

 

 

QUESTION 4

The SAS data set EMPLOYEE_INFO is listed below: 

IDNUMBER Expenses 2542 100.00 3612 133.15 

2198 234.34 

2198 111.12 

The following SAS program is submitted: 

proc sort data = employee_info; 

 

run; 

Which one of the following BY statements completes the program and sorts the data sequentially by descending
expense values within each descending IDNUMBER value? 

A. by descending IDNumber Expenses; 

B. by (IDNumber Expenses) descending; 

C. by IDNumber descending Expenses descending; 

D. by descending IDNumber descending Expenses; 

Correct Answer: D 

 

QUESTION 5

The following SAS program is submitted: 

 

proc means data = sasuser.shoes; 
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where product in (`Sandal\\' , `Slipper\\' , `Boot\\'); 

run; 

Which one of the following ODS statements completes the program and sends the report to an HTML file? 

A. ods html = `sales.html\\'; 

B. ods file = `sales.html\\'; 

C. ods file html = `sales.html\\'; 

D. ods html file = `sales.html\\'; 

Correct Answer: D 
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